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IS

Date

a What is the quotient of 357 + 3? e

A 109

e 3) 357

C 119
D 122

Six hundred ninety divided by five
equals one hundred thirty-eight.

A true

B false 5 690

e There are 354 candies in a bowl. If there e

are 6 children, how many candies does
each child receive?

What is the resulting quotient of
956 = 47

aze 4956
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=TI
C 347
D 397
e What is the resulting = (o} @ Tom saved $498 in 6 weeks. He saved
quotient of LA the same amount each week.
651 = 77 Ml How much did
he save ‘
A 83 each week?
B A $73
C 94 B $79
ol C $83
D $92
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